SRS 2H1HBE (o Ao HRA+HAEN)
RrHT4 HE R | s [ 55 (A) | B | & (B) | HE | & (A+B) HE Dk
JIHI 3T 2,373 —4 2, 800 -5 2, 790 -8 5, 590 -13
JHPTHT— T H 1,028 1 955 0 889 -6 1, 844 -6
T — T H 591 8 599 1 572 1 1,171 2
P =TH 666 3 747 6 679 -3 1, 426 3
JHPTHTIU T H 474 4 507 0 531 0 1,038 0
P HT H 300 1 319 1 321 1 640 2
PR T H 279 -2 355 -2 361 -9 716 —4
FESEHT 209 0 216 -1 226 2 449 1
A 369 2 454 -3 467 -3 921 -6
T H 1,847 15 1,976 7 2,021 10 3,997 17
PIPTHT 335 0 348 0 342 0 690 0
T 899 -2 969 -3 970 —4 1, 939 7
T —TH 273 0 366 -1 395 1 761 0
T T B 335 12 433 -1 445 11 878 10
HHT =T H 493 1 695 -1 698 0 1,393 -1
FHTIY T H 268 -1 403 -1 375 -5 778 -6
HrH 233 0 272 -1 259 0 531 -1
H] = 297 2 362 5 339 2 701 7
=K 445 2 467 0 481 0 948 0
— Y KFNT—TH 0 0 0 0 0 0 0 0
— Y ARHM T H 29 1 43 1 40 0 83 1
G 105 2 127 1 121 1 248 2
— Y KHTH 4 0 4 0 6 0 10 0
KH B 649 -9 848 0 843 —4 1,691 —4
[E TN 4, 383 9 4, 896 6 5,071 6 9, 967 12
ER 4, 525 3 4, 563 ~10 4, 626 4 9, 189 -6
TR 1,327 -3 1,463 -1 1,512 -5 2,975 -6
B+ 5 0 7 0 7 0 14 0
BELHR—TH 900 1 822 -2 1, 000 0 1, 822 -2
=2+tH_TH 1,111 0 1, 128 2 1, 180 1 2, 308 3
ELHR=TH 885 -1 837 -5 863 0 1, 700 -5
ELARMNTH 704 2 711 -3 725 -2 1, 436 -5
B LRI TH 705 0 802 2 714 1 1,516 3
ELHRANTH 0 0 0 0 0 0 0 0
B T 1, 839 2 1,876 0 1, 865 -3 3, 741 -3
wr E—TH 293 0 308 -2 306 -1 614 -3
Wy T B 236 0 248 1 240 -1 488 0
Wy b ="TH 425 4 443 3 465 1 908 4
oy 0T B 712 10 723 7 798 12 1,521 19
Wy T B 409 1 470 -1 492 2 962 1
IT—T1H 257 -1 297 -3 343 -1 640 —4
FEET T H 550 0 581 —4 647 7 1,228 11
T =T H 191 2 202 —4 257 -3 459 -7
2 31, 958 68 34, 642 11 35, 282 -2 69, 924 -13
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